Fourth lecture
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	One of the passive effects of the IR :
1-lack of factories
2-poor health conditions
3-good health conditions
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	One of the passive effects of the IR :
1-pollution
2-revolution
3-good education
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	One of the passive effects of the IR :
1-only men go to work
2-tourism
3-materialism
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	One of the passive effects of the IR :
1-kids go to school
2-the family structure got stronger
3-the family structure got weaker 
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	One of the passive effects of the IR :
1-poverty of some classes of people\
2-all the people became rich
3-only woman go to work
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	One of the  positive effects of the IR:
1-the society remained the same
2- the society changed 
3- it's getting harder for people to get in touch
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	One of the  positive effects of the IR:
1-it's getting easier for people to communicate 
2-lack of factories
3-people couldn't travel any more
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	One of the  positive effects of the IR:
1-the resources of knowledge reduced
2-creat more resources of knowledge 
3-all men and women and children go to work 
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	The industrial revolution :
1-changed society 
2- caused stagnation 
3- didn't change England 

	1-true
2-true
3-true


	Select true or fals :
1-the industrial revolution made knowledge easier .
2- the industrial revolution made transportation easier .
3- the industrial revolution created more resources of knowledge like books and magazines
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	The last major literary formed is :
1-poetry
2-drama
3-the novel 

	1-true
2-fals
	Select true or fals :
· 1- Before the novel arose, there was plenty of fiction like epics, ballads, anecdotes, and myths. 
· 2- Before the novel arose, there was plenty of fiction like history and geography. 


	3
	The rise of the novel is due to :
1-the disappearance of the middle classes in western Europe .
2- every body became rich .
3- the rise of the middle classes in western Europe .
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	The rise of the novel is due to :
1- Profound social and economic changes
2-the stagnation of the society  and economic .
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	The rise of the novel is due to :
1- Advances into the technology of making films.
2- Advances into the technology of making cloths .
3- Advances into the technology of printing .

	2
	The rise of the novel is due to :
1- stagnation  in the modes of distribution and literacy rates.
2- Changes in the modes of distribution and literacy rates.

	
	Reasons Behind the Emergence of the Novel :
1-the lack of the authors.
2-the lack of machines .
3- Authors became free agents in the literary market
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	Reasons Behind the Emergence of the Novel :
1-wars.
2-both working men and women could read at that time .
3- the spread of poetry .
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	One of the reasons behind the emergence of the novel ;
1-decline of printing .
2-lack of education .
3- decline of drama .
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	One of the reasons behind the emergence of the novel ;
1-lack of education .
2-decadence of poetry .
3-decadance of novel .
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	The novel started in England in ;
1-1st half of 16th century.
2-2nd half of 16th century.
3-1st half of the 18th century.

	1
	The novel started first in ;
1-England
2-France
3-Rome
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	How old is the English novel ?
1-100years
2-400years
3-250years
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	One of the greatest masters of the English novel is ;
1-Defoe
2-Shaw
3-Shakespeare
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	The mother of the English novel is ;
1-Defoe
2-queen Elizabeth
3-Aphra Behn's
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	The very first novel Ahra's wrote is ;
1-tale of tow cities .
2-Oroonoko 
3-silence of the lambs
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	The father of the English novel is ;
1-Fielding 
2-Sterne 
3-Defoe

	1
	The first novel Defoe published is ;
1-Robinson Crusoe
2-Tale of tow cities
3-Oroonoko 
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	Defoe published his first novel in ;
1-17th century
2-18th century
3-19thcentury

	1
	Aphra published her first novel in ;
1-17th century
2-18th century
3-19th century 



